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Tén:__ Ngaythang:_ Piém:__
(1+ 57 (5x + 6) (x— 9)(2x> — 6x— 6)
(5— 20)(3x+ 1) (4x* + 5)(x— 1)
(8x— 2)(5x* — Tx— 7) (1- 82 (x—6)
o —Sx—5)(Tx—7) (2 + x)(8x + 9)
(x— 4)(8x* + 6x + 6) (4x — 8)(9x + 2)
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gﬁ?@é 2

Phép nhan cac da thuc
Tén: Ngay thang: Piém:
(1+ 52 (5x+ 6) (x— 9)(2x* — 6x— 6)
25x° + 30%° + 5x + 6 20 — 24x% + 48x + 54
(5—2x)(3x+ 1) 4>+ 5)(x— 1)
—6x% + 13x+5 43 — 4% +5x— 5
(8x— 2)(5x> — Tx— 7) (1— 8% (x— 6)
407 — 66 — 42x + 14 8¢+ 48 +x— 6
o = 5x=5)(Tx—7) 2+ x)(8x +9)
T — 425 +35 8x% + 25x + 18
(x — 4)(8x% + 6x + 6) (4x — 8)(9x +2)
8> — 26x% — 18x — 24 36x” — 64x — 16
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